% I EF B K 2 & EH K

—s i == /I\\ ;&_‘.
nHEEE i R () AL 25
HE__ ([l BIEE_S301 36 2 HE 1 H EEns [SES] jen
PART I

A. Answer the following questions. Your answer should provide brief and clear explanation.

1. Suppose the production function for good g is given by g=3xK +2x L where X and L are capital and
labor inputs.  Consider the following statements about this function:
I.  the function exhibits constant returns to scale
II. the function exhibits diminishing marginal productivities to all inputs
MI. the function has a constant rate of technical substitution

Which of the above statements is true? (12 points )

2. The following are two questions concerning efficiency and equity.

(1) To reach an economically efficient output level, the size of an excise tax imposed on a firm generating a
negative externality should be (3 points)

the firm’s marginal cost

the social marginal cost

the difference between the sccial marginal cost and the firm’s marginal cost
the sum of the social marginal cost and the firm’s marginal cost.
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(2) “Any voluntary system of trading will result in an equitabie allocation of available resources.” True or
False? (5 points)

B. Essay problems

3. Use the isoquant map to explain why the short-run total cost curves shown in the figure below are not the
minimal costs for producing the various output levels. Only at the point where S7C curves tangent to the 7C

curve will the total costs on the S7C curves be the minimal costs. Be sure to mark (X,,K,,K,),
(0,,0,.0,) aswellas STC, - STC, on your isoquant map. (6 points)
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4. A carrot monopelist can produce at constant average costs of 4C =35. The firm faces weekly market
demand curve for carrots given by .

0=53-P.

(1) Calculate the profit-maximizing price-quantity combination for this monopolist. Also calculate the
monopolist’s profits. (4 points)

(2) Suppose that a second firm enters the carrot market. Let g, be the output of firm 4 and ¢, be the
output of firm B. On the assumption that firm B has the same cost as firm 4, calculate the Cartel and
Cournot equilibrium price-quantity combinaticn for the market as well as profits for each firm. (8 points

5. Suppose the government decides to impose a specific tax on an increasing-cost industry. Evaluate the
following statements.

(1) In the short run, market price rises, but both individual firm’s and industrial output levels decrease. We

will observe the same direction of changes even in the long run. (8 points)

(2) Tax burden will be borne by all the consumers in the market. (2 points)
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